PΙ	A	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

Crop	Number of Producers	Aaraa	Yield per	Total Production	Units of	Gross Farm Value
	Producers	Acres	Acre	Production	Measure	value
COTTON						
Lint - Irrigated		47,280.0	1,100.00	52,008,000		\$27,044,160
Lint - Non-irrigated		15,737.0	875.00	13,769,875		\$7,160,335
Seed - Irrigated		47,280.0	1,760.00	83,212,800		\$4,576,704
Seed - Non-irrigated		15,737.0	1,400.00	22,031,800	lbs.	\$1,211,749
Cotton (Total)	256	63,017.0				\$39,992,948
FORESTRY						
Pulpwood						
Pine				38,126	cords	
Hardwood				23,353	cords	
Pulpwood (Total)				61,479		
Chip & Saw				20,636	cords	
Saw Timber						
Pine				24,823,355	board feet	
Hardwood				1,881,865	board feet	
Saw Timber (Total)				26,705,220		
Total Pulpwood, Chip & Saw,	,					\$19,160,659
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,592,244
Forestry (Total)						\$19,160,659
FRUITS						
Blueberries	*	1.0	184.00	184	lbs.	\$230
Figs	*	1.0	350.00	350	lbs.	\$420
Mayhaws						
Native	*	1.0	340.00	340	lbs.	\$340
Orchard	*	1.0	2,125.00	2,125		\$2,656
Mayhaws (Total)		2.0	,	, -		\$2,996
Muscadines	*	1.0	1.20	1	tons	\$300

PI.	ANT	ENTER	PRISES	PRODUCT	ION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of	Gross Farm Value
	Troducers	Ticics	Acic	Troduction	ivicasurc	
FRUITS	*	2.0	07.00	174	1	Φ.5. 22.0
Peaches	*	2.0	87.00	1/4	bu.	\$5,220
Fruits (Total)		7.0				\$9,166
FEED GRAINS	1=4		1.45.00	10.451.020		400 0 5 0 6 5 0
Corn	176	72,214.0	145.00	10,471,030		\$23,978,659
Grain Sorghum	61	11,152.0	70.00	780,640		\$3,122,560
Oats	6	103.0	60.00	6,180	bu.	\$14,647
Feed Grains (Total)		83,469.0				\$27,115,865
HAY FOR SALE						
Grass	35	2,310.0	4.50	10,395	tons	\$519,750
Hay for Sale (Total)		2,310.0				\$519,750
HOME GARDENS	5,500					\$1,650,000
PEANUTS	*	550.0	2,065.00	1,135,750	lbs.	\$204,435
PECANS						
Improved	*	90.0	305.00	27,450	lbs.	\$31,568
Native	10	70.0	159.00	11,130	lbs.	\$6,678
Pecans (Total)		160.0		,		\$38,246
RICE	43	28,324.0	63.00	1,784,412	cwt.	\$9,903,487
SOD PRODUCTION	*	420.0		, ,	acre	\$1,489,320
SOYBEANS	220	32,758.0	32.00	1,048,256	bu.	\$6,970,902
SWEET POTATOES		32,700.0		,,		* - 9 9
Canning				353,400		\$706,800
Fresh				530,100		\$9,541,800
Sweet Potatoes (Total)	9	2,850.0	310.00	,	bu. (50 lbs.)	\$10,248,600
VEGETABLES	,	2,050.0	510.00	333,300	ou. (50 105.)	ψ10, 2 10,000
Cantaloupe	*	2.0	150.00	300	cartons (40	\$4,500
Cumuloupe		2.0	150.00	300	lbs.)	Ψ+,500
Collards					103. j	

PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Fresh	8	6.0	540.00	3,240	doz. bunches	\$22,680
Collards (Total)		6.0				\$22,680
Cucumber						
Fresh	*	1.0	320.00	320	bu. (50 lbs.)	\$3,200
Cucumber (Total)		1.0				\$3,200
Lima Beans						
Fresh	*	2.0	40.00	80	bu. (32 lbs.)	\$2,400
Lima Beans (Total)		2.0				\$2,400
Mustard (Fresh)	15	7.0	480.00	3,360	doz. bunches	\$23,520
Okra (Fresh)	*	6.0	250.00	1,500	bu.	\$30,000
Onions	*	1.0	100.00	100	bag (50 lbs.)	\$2,000
Peppers						
Bell	*	1.0	425.00	425	bu. (28 lb.)	\$6,375
Peppers (Total)		1.0				\$6,375
Pumpkin (Fresh)	*	10.0	87.00	870	cwt.	\$17,400
Southern Peas (Fresh)	30	65.0	74.00	4,810	bu. (24 lbs.)	\$96,200
Squash (Fresh)						
Yellow Squash	10	4.0	220.00	880	bu. (45 lbs.)	\$10,560
Squash (Fresh) (Total)		4.0				\$10,560
Sweet Corn (Fresh)	12	20.0	600.00	12,000	doz. ears	\$36,000
Tomatoes (Field)	*	3.0	1,100.00	3,300	lugs (20 lbs.)	\$49,500
Turnips (Fresh)	12	8.0	490.00	3,920	doz. bunches	\$27,440
Watermelon	*	180.0	250.00	45,000	cwt.	\$270,000
Vegetables (Total)		316.0				\$601,775
WHEAT	15	6,569.0	35.00	229,915	bu.	\$740,326
TOTAL ALL PLANT ENT	ERPRISES					\$118,645,480

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Catfish (Farm)	*	230 A	Acres in Prod.	710,000	lbs.	\$404,700
Aquaculture (Total)				,		\$404,700
FUR ANIMALS				26	pelts	\$138
ALLIGATORS (WILD)				262	ft.	\$5,775
HUNTING LEASES	78	34,000 N	No. Acres		acre	\$442,000
		L	Leased			
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES					\$852,613

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			213	head	\$77,398
400-500 lbs.			457	head	\$191,028
500-600 lbs.			915	head	\$420,415
600-700 lbs.			187	head	\$97,240
Steer Calves (Total)					\$786,081
Heifer Calves					
300-400 lbs.			289	head	\$92,512
400-500 lbs.			915	head	\$344,923
500-600 lbs.			960	head	\$408,883
600-700 lbs.			190	head	\$92,625
Heifer Calves (Total)					\$938,943
Yearling Cattle					
600-700 lbs.			631	head	\$328,120
700-800 lbs.			241	head	\$135,563
Yearling Cattle (Total)					\$463,683
					Page 4 of 5

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Cow-Calf Pairs			369	pair	\$265,680
Cull Cows				head	\$157,848
Cull Bulls			57	head	\$41,639
Cattle & Calves (Total)	131	5,902 No. Cows			\$2,653,873
HORSES					
Brood Mares					
Show Horses	12	183 No. Brood Mares	61	head	\$183,000
Recreation Horses	375	515 No. Brood Mares	35	head	\$52,500
Brood Mares (Total)					\$235,500
Recreation Horses	375		515	head	\$515,000
Horses (Total)					\$750,500
TOTAL ALL ANIMAL EN	NTERPRISES				\$3,404,373
MOREHOUSE PARISI	H TOTAL				\$122,902,465